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— Ex: 2 /
>> x=[1234]; ;

>> y=[289 3]; :

>> area = trapz(x,y)
area=19.5




A = quad(‘func’,a,b)

Ex1:
I “ x3-2x -5

dx

BUETE 7T
ELAIRCR) * quad

Func: T
a: ’77 MR
b: &7 LR

>> area = quad(‘1./(x.*3-2*x-5)’,0,2)

area = -0.4605

o2
Ex2: Ilexp(2x)dx

>> A = quad(‘exp(2*x)’,1,2)

A= 23.605

NOTE:

P > B Y
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(.*./.7)
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Definition of Derivative: —
dr

Backward Difference: 11 4
Forward Difference: mp
Central Difference; m¢
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Ex: 6sin(4t):

>> x = linspace(0,pi,40); , .
>>y = 6*sin(4*x); | | U -\ '

>> d = diff(y)./diff(x); % backward or forward diffeﬁrencex?

>> dc = (y(3:end)-y(1:end-2))./(x(3:end)-x(1:end-2)); % central
difference d = diff(z)

>> dy = 24*cos(4*x); % EETH = (@) - 2(1).00) - 2(2).....x(n) — 2(n - 1)
>> plot(x, dy, x(2:end), d,'0’, x(1:end-1), d,'x’, x(2:end-1), dc,""")

>> xlabel('x','Fontsize',[60]); ED:D:D:D 1~END

>> ylabel('Derivative','Fontsize',[60])

3~END
HiREy3-yl

1~END-2



Derivative
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O = backward difference
X = forward difference
A= central difference

-- = 24*cos(4*x)
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